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1.0 / 40
p
sin@ ”* ' 2
/ kg/
/
o 40 e 9
1 2
L —{erf[ Tj erf( Tlﬂ
erf(w)
W
_ 2
erf(w) \/F[-[o n
2
690
l'
o exp(0.89
p( sin®©
ex -2.45
Y P sin©
o Y
( ) 1.5 2.4 0.86 0.16 1.47><
( ) 2.5 5.4 1.03 0.12 0.036
( ) 2.5 1.07 0.71 0.107 0.018
( ) 1.5 4.4 0.86 0.12 0.94x<
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exp -3.12

sin©
(S)
kw/
1.0 /
cos® 20
/ kg/
/
(S)
1 2
2 2
., erf| (X2 | erf|
i
erf(w)

erf( l—“zzzJ N
g1

3.2%9exp -2.8
cos©
ex -1.61
1 Y P cos©O

Y 2
) 0.063 6.49
) 0.143 5.24
) 0.143 1.63
( ) 0.063 8.25
(S

kw/
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0.76exp(-2.76
0.38exp(1.29
{S.Sexp - 4.3

5.5exp -77.6
kw/
26 30
NO, =2.798 NOx 0-59% 0.829
[NO2] ppb
[NOx] ppb

120



26 30

[NO;]  1.4892 [NO.]  0.0072
[SPM]  1.4069 [SPM]  0.0170

[NO:] 98
[NO-] ppm
[SPM] 2
[SPm] mg/
5-2-4
(2)
295
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5-2-6(1)

/
14 226 240
7 184 191
13 200 213
8 232 240
5-2-6(2)
/
2,921 25,163 28,084
1,141 14,946 16,087
5,117 38,596 43,713
2,292 29,476 31,768
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5-2-7

28
30
5-2-8
5-2-7
/  km
X
40km/h 50km/h 40km/h 50km/h
2.276 .044 .047 .045
2.570 .314 .060 .058
1.681 .513 .039 .037
0.011 .011 .000 .000
0.013 .013 .020 .019
0.102 .103 .006 .006
0.060 .062 .000 .000
0.468 .428 .016 .015
1. 28
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5-2-8

0.02 0.01
/ km 3.29 5.20
0.005 0.005
kg/  km 0.467 0.717
29 30 31
5-2-8
30
X 0.021ppm
0.021mg/
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5-2-9
X 0.00003ppm
98 0.038ppm
5-2-9
NO
m
(ppm) (ppm)
(ppm) 98
m
(ppm) (ppm) (ppm)
(ppm)
G+ )[E )
1
0.00003 | 0.00572 | 0.021 | 0.02672 | 0.02675 | 0.0198 0.037
0.04
0.06ppm
0.00001 | 0.00753 | 0.021 | 0.02853 | 0.02854 | 0.0206 0.038
30
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5-2-10

0.000009mg/

130

0.048mg/
5-2-10

(ng/ ) | (mg/ ) |2

(ng/ ) (mg/ ) (mg/ )
(mg/ ) = + )
G +)
1
0.000009 | 0.000833 | 0.021 | 0.021833 | 0.021842 0.048
0.10
5 mg/
0.000005 | 0.001028 | 0.021 | 0.022028 | 0.022033 0.048
30
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Osaka Metro
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